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(1pt) 1. Consider the following three vector potentials in Cartesian coordinates:

� A1 = µ0Kz x̂

� A2 = µ0Kz (x̂+ ŷ)

� A3 = µ0K (2z x̂+ x ẑ)

Which two vector potentials result in the same magnetic field?

(a) A1 and A2

(b) A1 and A3

(c) A2 and A3

(d) They all result in different magnetic fields.

(1pt) 2. Consider the following two vector potentials in Cartesian coordinates:

� A1 = µ0Kz (x̂+ ŷ)

� A2 = µ0Ky (x̂+ ŷ)

Which one of the above vector potentials satisfies ∇2A = −µ0J?

(a) only A1

(b) only A2

(c) both A1 and A2

(d) neither A1 nor A2
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